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Example 6.1 Calculate the limit:
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Example 6.2; Calculate the limit:
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We divide the numerator and the denominator by x to the greatest power, i.e. X,
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Example 17-2:_
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x = 0. sin5x ~ 5x, tg8x ~ 8x,
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Example 26:
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x2+1, x<0

Example. Investigate a continuity of the function: f(x)=41+2x, 0<x<2

Solution.
We have 2 break points: x=0 and x=2

Let’s investigate the point x=2. A

The value of the function:
Ffi=2-2=10

The left limit: R ¢
litn (1+2x)=1+2-2=5 |

¥=3d-0

The right limit:
lirn (x-2)=2-2=10

= 2+0

Since

x]iigl—ﬂﬂ-i_ EI} * x]—J}I%IHJ(I_ E:I

we have the discontinuity of the first
Kind.



